BT TRIA O - HEHHEE X T EFEJ'ZiQEwH KIRHE
+H- I:I - 3 I:I
BT T2 | MR T8 T = BT T2 | MR8 T =%
HRX 38,801 86,885 41,401 45,484
RIRET1T 6 15 9 6
RIRET2T 28 55 27 28
AIEET3T 178 590 291 299
RIRET4T 414 1,002 498 504
B 626 1,662 825 837
REH 2,664 6,192 2,889 3,303
L&A 4,228 9,508 4,474 5,034
5E 2,562 5,985 2,914 3,071
B AN 1,260 2,864 1,324 1,540
BERT 1,311 1,985 949 1,036
BER2T 715 1,359 658 701
BHERST 381 860 414 446
g 2,407 4,204 2,021 2,183
BARE 282 684 351 333
= 2,212 5,246 2,483 2,763
hERE 628 1,453 656 797
e 2,423 5218 2,512 2,706
25 L ET 2,291 5,131 2,446 2,685
B &AL BT 78 164 67 97
HEFILET1T 563 1,213 571 642
HEFILET2T 616 1,358 643 715
HEZFILAT3T 616 1,451 715 736
g 1,873 4,186 1,996 2,190
B & it B Fr ET 686 1,635 787 848
BHEREBET1T 601 1,237 593 644
BHERERET2T 762 1,760 845 915
BHERERETST 780 1,682 765 917
HERERET4T 454 961 467 494
HEHFMHETST 819 1,706 806 900
HEHFHET6T 889 1,984 958 1,026
HEFRET7T 853 1,868 910 958
HERERETST 69 215 100 115
5| 5227 11413 5,444 5,969
HEF R FET 1,861 3,960 1,918 2,042
S|EFET1T 575 1,551 775 776
S|EFET2T 765 1,816 860 956
S|EFET3 T 720 1,423 653 770
g 2,060 4,790 2,288 2,502
ERE1T 570 1,355 650 705
EIRET2T 386 1,034 521 513
EREIST 478 1,308 640 668
EIRETAT 694 1,517 680 837
EIZEIST 494 1,004 507 497
g 2,622 6,218 2,998 3,220
MEH 2,776 6,311 2,976 3,335
J\THET1T 34 37 13 24
J\THET2T 28 73 35 38
J\THEI3T 51 115 51 64
B 113 225 99 126

IR=



